

$$\begin{aligned} \wedge (\cos x - \tan^2 x = 1) \quad \wedge \cos^3 x - \sin^2 x = \cos^2 x \quad \wedge \cos^3 x - 1 + \cos^2 x = \cos^2 x \\ \wedge \cos^3 x - 1 = 0 \quad \wedge \cos^3 x = 1 \Rightarrow \frac{1}{\wedge} = \cos^3 x \Rightarrow \cos x = \frac{1}{\wedge} \Rightarrow 2k\pi \pm \frac{\pi}{\wedge} \end{aligned}$$

۱

$$\begin{aligned} \omega \sin^2 x + 2 \cos^2 x = -2 \Rightarrow \omega (1 - \cos^2 x) + 2 \cos^2 x = -2 \Rightarrow \omega - \omega \cos^2 x + 2 \cos^2 x = -2 \\ \omega - \omega \cos^2 x + 2 (4 \cos^2 x - 3 \cos^2 x) = -2 \Rightarrow \omega - \omega \cos^2 x + 2 \cos^2 x = -2 \\ (\omega + 1) (\wedge \cos^2 x - 3 \cos^2 x + 2) = 0 \Rightarrow \cos^2 x = -1 \Rightarrow \cos x = -1 \Rightarrow x = 2k\pi + \pi \end{aligned}$$

۲

$$\begin{aligned} 2 \sin x \cos^2 x + \sin x = 1 \Rightarrow \sin x (\underbrace{2 \cos^2 x + 1}_{-2 \sin^2 x}) = 1 \Rightarrow -2 \sin^3 x + \sin x - \sin^3 x = 1 \\ \sin x = 1 \end{aligned}$$

۳

$$\begin{aligned} \frac{1}{\sin^2 x} + \frac{1}{-\sin^2 x} = 0 \Rightarrow -\sin^2 x + \cos^2 x = 0 \Rightarrow \cos^2 x = \sin^2 x = \cos^2 \left(\frac{\pi}{4} - x \right) \\ x = 2k\pi \pm \frac{\pi}{4} - x \Rightarrow x = \frac{k\pi}{2} + \frac{\pi}{4} \quad \left. \begin{aligned} & \Rightarrow x = \frac{k\pi}{2} + \frac{\pi}{4} \\ & \Rightarrow x = k\pi + \frac{\pi}{4} \end{aligned} \right\} \Rightarrow \frac{\pi}{4} = \alpha \\ \tan^2 \alpha = \tan^2 \frac{\pi}{4} = 0 \end{aligned}$$

۴

$$\textcircled{1} \sin\left(x + \frac{\pi}{2}\right) \cos\left(x - \frac{\pi}{2}\right) = 1 \Rightarrow x_1 = \frac{\pi}{2}$$

$$\textcircled{2} \sin\left(x + \frac{\pi}{2}\right) \cos\left(x - \frac{\pi}{2}\right) = 1 \Rightarrow x_2 = \frac{\pi}{2}$$

~~sin x + \sqrt{r}~~ $\sin x + \sqrt{r} \Rightarrow x = \sqrt{r} \Rightarrow \sqrt{a^2 + b^2} = \sqrt{r} = \frac{r}{2} \Rightarrow$

$\cos x = \frac{r}{2} \Rightarrow x = \frac{\pi}{2} \Rightarrow r \sin\left(x + \frac{\pi}{2}\right) = \sqrt{r} \Rightarrow$

$\sin\left(x + \frac{\pi}{2}\right) = \frac{\sqrt{r}}{r} \Rightarrow x + \frac{\pi}{2} = \arcsin\left(\frac{\sqrt{r}}{r}\right) = \arcsin\left(\frac{1}{\sqrt{r}}\right)$

$\sin x \sin\left(\frac{\pi}{2} - x\right) = 1 \Rightarrow \sin x \cos x = 1 \Rightarrow \sin 2x = 1 \Rightarrow 2x = \frac{\pi}{2} \Rightarrow x = \frac{\pi}{4}$

$x = \frac{\pi}{4} + \frac{2k\pi}{2} \Rightarrow x = \frac{\pi}{4} + k\pi$

$(r \cos^2 \alpha) (r \cos^2 \beta) (r \cos^2 \gamma) = \frac{1}{r} \Rightarrow \cos^2 \alpha \cos^2 \beta \cos^2 \gamma = \frac{1}{r^3} \Rightarrow \cos \alpha \cos \beta \cos \gamma = \frac{1}{r^{3/2}}$

$r \cos^2 \alpha = \frac{1}{r} \Rightarrow \cos^2 \alpha = \frac{1}{r^2} \Rightarrow \cos \alpha = \frac{1}{r} \Rightarrow \alpha = \arccos\left(\frac{1}{r}\right)$

$\alpha = \arccos\left(\frac{1}{r}\right) \Rightarrow \alpha_{\max} = \arccos\left(\frac{1}{r}\right)$

$\tan(x+y) = \frac{\tan x + \tan y}{1 - \tan x \tan y} \Rightarrow \frac{\tan x + \tan y}{1 - \tan x \tan y} = 1 \Rightarrow \tan x + \tan y = 1 - \tan x \tan y$

$(\tan x + \tan y) = 1 - \tan x \tan y \Rightarrow \tan x + \tan y + \tan x \tan y = 1$

$z^2 - 9z + 1 = 0 \Rightarrow z = \frac{9 \pm \sqrt{81 - 4}}{2} = \frac{9 \pm \sqrt{77}}{2}$

$z = \frac{9 \pm \sqrt{77}}{2}$